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Answer Question Nos. 3 to 6
within 400 words each

Choose the correct answer : 1x7=7

(a) What is the difference between g plant
cell and animal cell ?

(i)  Plant cell has a single-large central
vacuole, whereas anijmal cell

contains many sma]] vacuoles
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(i) Plant cell lacks chloroplast Whid}r (d) A colour-blind father and a normal

are present in animal cells ; mother will have
i

(i) Animal cell has a thin wall 3—" (i) 50% daughters as carriers

plant cell has a thick wall \ (i) all normal sons
| u ‘

(iv) All of the above | _
i (iii) no colour-blind daughters

(b) Assign the child of group O, Rh+ to v

right set of the following parents | (iv) All of the above
() AB, Rh+ x O, Rh- | (e) Which of the following characters is sex-
| linked ?

(i) AB, Rh- x O, Rh+
Hydrocephaly

(iii) A, Rh+ x A, Rh- " (}
s (ii) Xg blood group

|

zZygotic twins .

(IU) O, Rh+ x AB, Rh+
(c) Development of mono (iii) PTC taste sensitivity
due to fertilization of

(1)
(i)

(iv) All of the above

one s : :
P€rm agng one egg (f po1yg§n1c straits .Show

one g e A -
Perm ang two eggs (i) continuous variation

(i) discontinuous variation

(iv) two SPerms ang one egg
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3. Give a brief account of the history and

(i) Both of the above development of human genetics and its
modern trends. Mention the limitations of
(W) None of the above '‘Man’ as an object of genetic study. 12
(9) The creation of mutation is called | or
TR . ' ;
() mutagenesis } What is meant by pedigree ? Discuss its
|
\

use, importance and limitations in studying

(i1) evolution human heredity.

|
(iti) saltatory changes |
’ | 4. What is monohybrid ratio? Describe

(iv) radiations Mendel’s laws of inheritance with suitable

\ 11
| examples.
2. 1 3 y
lelte briefly on any three of the followil Or
(within 100 words each) : ,1f! .
: 5x374 What is meant by polygenic inheritance ?
(@) Gene and Chl‘Omosorne | How does it differ from multiple allelism ?
| answer with suitable
(b) MNS blood sroy Elaborate your
P System | examples.
() Twin study |‘
(d) Po ulat; | Define Hardy-Weinberg law. State clearly
Pulation Senetics | S. P conditions the Hardy-Weinberg
(e} ConSanguinity ]I law is applicable-. How doles 1t help n tl;f
! study of population genetics ?
0 Mutatioy, |
| d
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What is a Mendeliap population ? WhE

effect miscegenation have on hum#
population ? Explain, |



